Apartment in Qormi



Qormi, Central



€270,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²) : **102**

Bedrooms: 3

Reference No: 240271020-147

Apartment - For Sale - Qormi

QORMI - APARTMENT - Smart and elegant block with only 4 units. 3-bedroom apartments with a squarish layout. Currently being built. Situated in a sought-after area of this village, yet close to all amenities. Being sold highly finished excluding bathrooms and doors. An optional 6-car garage is also available. Call agent now for further details.

Features

- 🗸 Lift
- Entrance Hall
- Electricity Utility
- Skirting
- Balcony

Rooms

- Kitchen/Living/Dining : 7 x 5.09 m (35.63 m2)
- Double Bedroom : 4.24 x 2.93 m (12.42 m2)
- Double Bedroom : 4.19 x 2.72 m (11.4 m2)
- Double Bedroom : 3.52 x 3.2 m (11.26 m2)
- Hallway : 2 x 4.7 m (9.4 m2)
- Hallway : 4.5 x 1.2 m (5.4 m2)
- Bathroom : 3 x 1.5 m (4.5 m2)
- Shower Ensuite : 2 x 1.5 m (3 m2)
- Open Space : 2.44 x 0.75 m (1.83 m2)
- Open Space : 6 x 0.9 m (5.4 m2)

- En Suite
- Marble Floor
- Gypsum Plastering
- Double Glazed
- Video Intercom

Gallery









Gerald Ancilleri RE/MAX South - Marsascala

M: 99746504 E: gerald@remax.com.mt T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta